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11. One who likes mankind is

(a) psychologist (b) misanthropist  (c) philanthropist (d) oncologist
12. One of the basic criterion of good hand writing is

(a) copying from a model writing

(b) to see the model writing and practice own writing

(c) regular practice by the learner themselves

13. The sentence where the verb is in the present perfect form:

(a) He is reading a book.

(b) He has made a mistake.



(c) He has been suffering from fever since Monday last.
(d) Ram goes to school regularly.

14. He was ashamed ............ his mistake.

(a) at (b) of (c) for (d) from

15. Being young the students have little or no .................. .

(a) patience (b) calm (¢) endurance
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